[image: image1.wmf]Name: _______________________ Date: _______ Class: ___

Investigating Reproduction of Organisms 
Directions: We will complete parts 1- 3 of this packet over the next few days. Please work hard to complete each part successfully.
Starter Questions (Complete at the Beginning of Class):
What do all living things have in common?  All living things……….

1.





2.




3.
4. 





5.  




6. 
7. What is heredity and how is it related to reproduction?  
Class Notes: Part 1
8. What are the two types of Reproduction? 
a. 






b.  


9. Cut out the following characteristics of reproduction that are all scrambled. Organize the statements into a double bubble (rectangle) map in the space provided on page 2 of this packet. 












Group Organism Investigation: Part 2 
What are some general trends of of sexual and asexual reproduction needed for survival? Complete the following data table while each assigned group presents information on the various organisms.
Organisms under Investigation
	Organism
	General Characteristics
	# of Parents
	How Repro.
Happens
	Parent Care
	Variety in Offspring
	Type of Repro. S or AS?

	Spiny Water Flee
	Tiny transparent
crustacean
	
	Reproduce rapidly
“ Resting Eggs”
	
	
	AS and S

	Whiptail Lizard
	Lizard of the Southwest US
	
	“Parthenogenesis” no male species
	
	
	AS

	Meadow Garlic
	Flowering plant
Onion like
	
	Bulblets sprout 
Bulbs pollinated
	
	
	As and S

	Red Kangaroo
	Live in Aust. 
Can jump well
	
	Short gestation
Start in pouches.
	
	
	S

	Brittle Star
	Related to Starfish
	
	Reproduce by fission or fragment.
	
	
	AS  and S

	Duck Leech
	
	
	“Hermaphrodite”
Requires gametes
	
	
	S

	Grizzly Bear
	Live in rough 
mountain areas
	
	Internal
Delayed Fert.
	
	
	S

	Salmonella
	Small, 1-celled

Eubacteria
	
	Cell divides itself 
	
	
	AS


Create a double bubble map in the space provided below to summarize what you know about the differences and similarities of sexual and asexual reproduction. The statements you need are already printed, but in scrambled order on the front page. Cut the statements out and make a double bubble map. Use your part 1 and part 2 notes for help. 

Homework: 

Assessment: Part 3 






/21 points
1. Which type of reproduction do you think is best for the survival of an organism and survival of the organism’s species as a whole? Explain. (Write one paragraph). 

2. Which of the following is an example of sexual reproduction? 

  A.  
division of one amoeba into two 

  B.  
growth of an organism 

  C.  
joining of egg and sperm 

  D.  
one cell splitting to form two cells
3. You are given 3 unknown organisms labeled A, B, C. When looking at the DNA of the three unknown organisms, you find that they all have the exact same sequence of DNA. Which statement below is the most logical explanation? 

  A. 
 Organisms A, B, and C were reproduced asexually from a common parent 

  B.  
Organisms A, B, and C were reproduced sexually from a single pair of parents 

  C.  
Organism A and B are the parents of C 

  D.  
Organism A, B, and C are unrelated
4. How many parents are required in AS reproduction? 

  A.  
one 

  B.  
two 

  C.  
three 

  D.  
none
5. Bacteria reproduce asexually by dividing in two. If you were to examine the genetic material of two bacteria that had just been reproduced from the same parental cell, how would their genetic material compare? (Assume no mutations occur) 

  A.  
completely different 

  B.  
about 65% the same 

  C.  
about 50% the same 

  D.  
100% the same
6. Which of the following is an example of an organism reproduced asexually? 

  A.  
A sea star being cut in half and each half regenerating a full sea star 

  B.  
Female salmon laying eggs on gravel streambeds to be fertilized by a male 

  C.  
Pollen blown by wind from one flower to another resulting in a seed 

  D.  
Pollen carried by an insect from one flower to another

7. How many parents are required in S reproduction? 

  A.  
one 

  B. 
 two 

  C.  
three 

  D.  
none
There is meiosis because the 2 parents need to make gametes with ½ the normal number of chromosomes. 








There is little genetic variation from generation to generation of offspring. 








Produce Offspring








 There is no meiosis because there are no gametes due to only having 1 parent for reproduction.  








Offspring are only a blend of each parent. 








Keep Species in Existence








 Pass DNA from parents to offspring  








3. Offspring are exact clones of the one parent (DNA is exactly the same).








All the DNA of the new organism comes from 1 parent (100%).  








Usually more complex organisms








½ of the DNA of the new organism comes from each of 2 parents (50% each).  








Less numbers of offspring are born to the 2 parents each time of reproduction








There is usually more parental care to the offspring. 








There is more genetic variation from generation to generation of offspring.








Greater numbers of offspring are born to the 1 parent each time of reproduction








There is usually less parental care to the offspring. 








Usually simple organisms











